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Profit = 136.4289+ (1.8585)*Income

 s=25.6 − R2=0.07
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 s=23.4 − R2=0.22
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 s=24.9 − R2=0.12



●

●

●

●

●

●

●

●

●

●

●

●

●

●

●

●

●

●

●

●

●

●

●

●
●

●

●

●

●

●
●

●

●

●
●

●

●

●

●

●

●

●

●

●

●

●

●

●

●

●

●

●

●

●

●

●

●

●

●

●●

●

●

●

●

●

●

●

●

●

●

●

●

●

●

●

●

●

●

●

●

●

●

●

●

●

●

●

●

●

●

●

●
●

●

●

●

●

●

●

●

●

●

●

●
●

●

●

●

●

100 150 200 250 300

10
0

15
0

20
0

25
0

30
0

Social Security recipients (per 1,000 peoople in the location)

P
ro

fit
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 s=19.7 − R2=0.45
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 s=21 − R2=0.37
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Profit = 107.4794+ (6.2003)*Aged65

 s=16.8 − R2=0.6
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 s=22.9 − R2=0.25
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 s=24.1 − R2=0.18
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 s=17.4 − R2=0.57
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 s=19.5 − R2=0.46
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 s=14.7 − R2=0.69
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Profit = 148.3308+ (3.4075)*DispIncome+ (−2.1437)*Birthrate

 s=22.5 − R2=0.28
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 s=16.1 − R2=0.63



●

●

●

●

●

●

●

●

●

●

●

●

●

●

●

●

●

●

●

●

●

●

●

●

●

●

●

●

●

●

●

● ●

●

●

●

●

●

●

●

●

●

●
● ●

●

●
●

●

●

●

●

●

●

●

●

●

●

●

●●

●

●

●

●

●

●

●

●

●

●

●

●

●
●

●

●

●

●

●

●

●

●

●

●

●

●

●

●

●

●

●

●

●

●

●

●

●

●

●

●

●

●

●

●
●

●

●

●

●

100 150 200 250 300

10
0

15
0

20
0

25
0

30
0

Fitted profit

P
ro

fit
Profit = 51.8195+ (3.6459)*DispIncome+ (0.174)*CVdeath

 s=17.5 − R2=0.57
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Profit = 54.8435+ (2.9433)*DispIncome+ (5.7299)*Aged65

 s=14 − R2=0.72
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Profit = 94.0635+ (0.5855)*Birthrate+ (0.5046)*SocSec

 s=19.7 − R2=0.45
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 s=21 − R2=0.37
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Profit = 85.3866+ (1.0477)*Birthrate+ (6.7238)*Aged65

 s=16.6 − R2=0.61
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 s=19.6 − R2=0.45
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 s=16.2 − R2=0.63



●

●

●

●

●

●

●

●

●

●

●

●

●

●

●

●

●

●

●

●

●

●

●

●

●

●

●

●

●

●

●

● ●

●

●

●

●

●

●

●

●

●

●
● ●

●

●
●

●

●

●

●

●

●

●

●

●

●

●

●●

●

●

●

●

●

●

●

●

●

●

●

●

●
●

●

●

●

●

●

●

●

●

●

●

●

●

●

●

●

●

●

●

●

●

●

●

●

●

●

●

●

●

●

●
●

●

●

●

●

100 150 200 250 300

10
0

15
0

20
0

25
0

30
0

Fitted profit

P
ro

fit
Profit = 111.5995+ (−0.0737)*CVdeath+ (7.9197)*Aged65
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 s=17.4 − R2=0.57



●

●

●

●

●

●

●

●

●

●

●

●

●

●

●

●

●

●

●

●

●

●

●

●

●

●

●

●

●

●

●

● ●

●

●

●

●

●

●

●

●

●

●
● ●

●

●
●

●

●

●

●

●

●

●

●

●

●

●

●●

●

●

●

●

●

●

●

●

●

●

●

●

●
●

●

●

●

●

●

●

●

●

●

●

●

●

●

●

●

●

●

●

●

●

●

●

●

●

●

●

●

●

●

●
●

●

●

●

●

100 150 200 250 300

10
0

15
0

20
0

25
0

30
0

Fitted profit

P
ro

fit
Profit = 49.7486+ (0.5419)*Income+ (2.4284)*DispIncome+ (5.847)*Aged65

 s=13.9 − R2=0.72



●

●

●

●

●

●

●

●

●

●

●

●

●

●

●

●

●

●

●

●

●

●

●

●

●

●

●

●

●

●

●

● ●

●

●

●

●

●

●

●

●

●

●
● ●

●

●
●

●

●

●

●

●

●

●

●

●

●

●

●●

●

●

●

●

●

●

●

●

●

●

●

●

●
●

●

●

●

●

●

●

●

●

●

●

●

●

●

●

●

●

●

●

●

●

●

●

●

●

●

●

●

●

●

●
●

●

●

●

●

100 150 200 250 300

10
0

15
0

20
0

25
0

30
0

Fitted profit

P
ro

fit
Profit = −0.2611+ (2.7036)*Income+ (1.4475)*Birthrate+ (0.5807)*SocSec

 s=17 − R2=0.59



●

●

●

●

●

●

●

●

●

●

●

●

●

●

●

●

●

●

●

●

●

●

●

●

●

●

●

●

●

●

●

● ●

●

●

●

●

●

●

●

●

●

●
● ●

●

●
●

●

●

●

●

●

●

●

●

●

●

●

●●

●

●

●

●

●

●

●

●

●

●

●

●

●
●

●

●

●

●

●

●

●

●

●

●

●

●

●

●

●

●

●

●

●

●

●

●

●

●

●

●

●

●

●

●
●

●

●

●

●

100 150 200 250 300

10
0

15
0

20
0

25
0

30
0

Fitted profit

P
ro

fit
Profit = 59.852+ (2.1068)*Income+ (0.2982)*Birthrate+ (0.1913)*CVdeath

 s=19.5 − R2=0.46
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 s=13.8 − R2=0.73
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 s=14 − R2=0.72
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Profit = −17.9708+ (−0.0491)*Income+ (4.0692)*DispIncome+ (2.1569)*Birthrate+ (0.4412)*SocSec+ (0.056)*CVdeath

 s=15.1 − R2=0.67
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Profit = 10.7573+ (0.494)*Income+ (2.6891)*DispIncome+ (1.7748)*Birthrate+ (−0.0589)*SocSec+ (7.309)*Aged65

 s=13.1 − R2=0.75
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Profit = 9.3264+ (0.6088)*Income+ (2.5826)*DispIncome+ (1.7677)*Birthrate+ (−0.0246)*CVdeath+ (7.2845)*Aged65

 s=13.1 − R2=0.76
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Profit = 58.9401+ (0.7102)*Income+ (2.0238)*DispIncome+ (−0.1351)*SocSec+ (−0.0393)*CVdeath+ (8.2595)*Aged65

 s=13.7 − R2=0.73
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Profit = 28.9748+ (2.2129)*Income+ (1.2525)*Birthrate+ (−0.1051)*SocSec+ (−0.0545)*CVdeath+ (9.345)*Aged65

 s=13.9 − R2=0.73
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Profit = 17.3688+ (3.1241)*DispIncome+ (1.7398)*Birthrate+ (−0.052)*SocSec+ (−0.0148)*CVdeath+ (7.4626)*Aged65

 s=13.2 − R2=0.75
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Profit = 13.1613+ (0.5986)*Income+ (2.535)*DispIncome+ (1.7039)*Birthrate+ (−0.0475)*SocSec+ (−0.0227)*CVdeath+ (7.7139)*Aged65

 s=13.1 − R2=0.76
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